
  

 

Figure 16-1: Labor Market Equilibrium 
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Figure 16-2: Labor Market with Minimum Wage 
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Figure 16-3: Firm’s labor inputs
(competitive labor market) 
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 Figure 16-6: Equilibrium in capital markets 
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Figure 16-9: Intertemporal substitution with an increase in the interest rate 
(substitution effect dominates) 

C2 

Y(1+i2)=96,000 

 

B 

Y(1+i1)=88,000 

A BC2 

BC1 

C1Y=80,000 
Income effect 

Substitution effect 
8



MIT OpenCourseWare 
https://ocw.mit.edu/ 

14.01 Principles of Microeconomics 
Fall 2023 

For information about citing these materials or our Terms of Use, visit: https://ocw.mit.edu/terms. 

https://ocw.mit.edu/
https://ocw.mit.edu/terms

	Blank Page
	Blank Page
	Blank Page



